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1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
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3. 79 Uf % 1 ¥ &3 T HiSw § YR SO A foae €1 wien g W 3R % 7 fod

4. 3@ werr gfcsht ® 100 g (e) f&F T ) ydw weAre et ofit ot o sW By geArw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. T ST & @ €%

TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % 1E SEEaR Tk 9 @i ST A €, @ 39 el ST HE S, = 5 7y Sw ¥ 9 U I
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
for@ = 3 7@ fen s

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. frafafea saa ® foar Sifsa:

1. gfe wfeen (foeme fo=sy W AfuR
) AffEE, 1986 % STIHR GATRIET
gfe wfeen o9 @ d9fd ® =T
WRO-UIT0] Y A HT EHIR €, TR
TTIH 3354 1Aty & offeR foman s =nfEa

2. g wfeen  (faame  stfawr |
stfafem, 2019 & STER ‘dF Joms’ oTd
Th T S B

ST Ferl § 4 HHA-UA TE 22?2

(a) a1 (b) e 2
(c) 1 3R 2 < (@ Fd 1,72
. fr=afafed w fomm wifs3:

1. fam s vRd= d@foum & S =s%-270 &
e T Tk Howe e 2

2. 159 faa e &t fawien &t @ty 6 ad
2, S fasdta @ 2025-26 @ W= €

3. IIEIR-275 Tl &l &g R WM fvd S
A TRl SR § Fefed 7

ST § 9 forad wer wEr 27

(a) HaA TH (b) HaaA I

(c) Tt o= (d) &g T

. Frafafes = faar Fifsa:

1. ‘foen’ dfqum &1 73 SFTIEE & STIER Tl
Y Hefea fova 21

2. forem & AfusR 1 2009 # THE §W HT
TR FTaa fewan T

3. STUThTA o S vl Toe |t o fren =
qeerdt gt 1 formd s & Hay H oTgere
T o

4. Gfaum &1 STIR-350(A) WufHs TR W
forem &1 g ¥ WA w w1 foR w9
Y e e 2

Sufe | 9 o e wet €7

(a) HIA TH (b) waA

(c) Had = (d) |+t =R

. YT RA & sfae™ ¥ ffafad el &l

FHIAHRH & STAR Fafked Hiferd:

(a) TehTel Wiufd - ged fede - g o -
TRt favafaemem sifufrd

(b) I=@ e - 8 @ - Hehrel Wit -
Rt favafaemem sifufrad

(c) Rt favafeaeme™ sifufem - Herel wfifd
- TX [ - ged fedm

(d) R @M - He WEfG - A9REE
favafaemea sifufam - g fedm

1. Consider the following statements:

1. As per the Muslim Women (Protection of
Rights on Divorce) Act, 1986, a divorced
Muslim woman is entitled to receive
justifiable maintenance from her former
husband, which should be paid within the
Iddat period.

2. ‘Triple Talaq’ is now a cognizable offence as
per the Muslim Women (Protection of Rights
on Marriage) Act, 2019.

Which of the statements given above is/are
correct?

(a) 1only

(c) Both 1and2

(b) 2 only
(d) Neither 1 nor 2

. Consider the following:

1. The Finance Commission is a constitutional
body established under Article 270 of the
Indian Constitution.

2. The duration of the recommendations of the
15th Finance Commission is 6 years, which
are valid till the financial year 2025-26.

3. Article 275 deals with the grants-in-aid
provided by the Centre to the states.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

. Consider the following:

1. ‘Education’ is a state subject as per the 7th
Schedule of the Constitution.

2. The Right to Education was implemented
through an act made by parliament in 2009.

3. During the Emergency period, the Swaran
Singh Committee recommended making
education a subject in the Concurrent List.

4. Article 350(A) ofthe Constitution specifically
provides for imparting education in the
mother tongue at the primary level.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four

. Arrange the following events in the history of

modern India in chronological order:

(a) Macaulay Committee - Woods Despatch -
Hunter Commission - Indian Universities Act

(b) Woods Despatch - Hunter Commission -
Macaulay Committee - Indian Universities
Act

(c) Indian Universities Act - Macaulay
Committee - Hunter Commission - Woods
Despatch

(d) Hunter Commission - Macaulay Committee
- Indian Universities Act - Woods Despatch
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5. TSFUTE S U SRR % gay H fefafed

FHeAl W faar Hifsd:

1. 3 S TIUS h 9RAE HfauE &
IT=E-361 & T8d U erdl 2l

2. ISR 361 TUMAI & SAURR TIR-14
F TH AER 2

3. TUE & fovg fafse sraEt & ?g
fafaa =ifeq < =+ em@fy 3 @@ 21

4, THUA & foeg I wEw™ ® INH
Td B W Aie wRER 1w
&1 Rt STa

STgF § @ fohad weF e 7?2
(a) HId TH (b) ®ad |
(c) Had o= (d) |+t IR

6. IRdE GiauH o gEsfe TSR W gefud

Fol W fo=m #ifs:

1. dfgum @1 oess-15 fowmed @ wH,
erael, S, fam 9 SFH-TH & STUR |
qeure 1 Y w2

2. wfaum 1 Sg=s-16 (ST ISR ¥ /e
H FAMA) IR-Terdt sEfge % uia
e & fomr fuse o &1 oy wgen &
o foreie wraee w1 SrAfa e e 2

3. 3few wret Ame (1992) ® gated =
q SIREV I FU G H 50 Ffawd qH

@ o em
ST Fo H W HA-T/A FH TE 82
(a) Fad 1 (b) wa 2
(c) wad 2 3R 3 (d) ot 1 3R 3

7. f& MU el & Hew H famm wifed:

1. YRAM™ M oFewen a9 2023 d% 1868 H
fefeet TR R SFIT T TR § Heiferd off|

2. TaffHd TRdE SeRER sifufad, 2023 S R
Yol HEIFRTR i Sl Wl Y& i 2
Yo feifa w6 & ford siferpa e 21

ST wul § W HHE-w/d e 22?2

(a) dad 1 (b) Faa 2

(c) 1 3R 2 < (@ Fd 1,72

8. Setarg THd F (CRA) & Hag ¥ Ffafed

HYA W fo=m wifsE:

1. AR $ A7HEE TREE (ICAR) 7 Sierery
STIRd FY & Faren 4 & faa a9 2011 H
T Jary AHa HU Ta=R (NICRA)
e Teh Heasdh qRATSH i Y& i

2. YTifed UG &g fARE (NBM) =i 2022
¥ 3% T

5. Consider the following statements regarding the
immunities provided to the Governor:

1 These immunities are provided to the
Governor under Article 361 of the Indian
Constitution.

2. Article 361 is an exception to the Right to
Equality mentioned under Article (14).

3. The period for giving written notice for
taking civil action against the Governor is 3
months.

4. No criminal proceedings shall be initiated
against the Governor in the court of law
during his tenure.

How many of the above statements are incorrect?
(a) Only one (b) Only two
(c) Only three (d) All four

6. Consider the following statements related to public
employment in the Indian Constitution:

1. Article 15 of the Constitution specifically
prohibits discrimination on grounds of
religion, race, caste, sex and place of birth.

2. Article 16 (Equality of opportunity in matters
of private employment) of the Constitution
allows special provisions to benefit backward
classes without prejudice to non-resident
candidates.

3. In the Indira Sawhney case (1992), the
Supreme Court fixed the upper limit of
reservation at 50 per cent.

Which of the statements given above is/are correct?
(a) 1only (b) 2 only
(¢) 2and 3 only (d) 1 and 3 only

7. Consider the following statements:

1. The Indian postal system was governed by
an Act made by the British Government in
1868 till the year 2023.

2. The newly enacted Indian Post Office Act,
2023 authorizes the Director General of
Postal Services to fix charges for providing
postal services.

Which of'the statements given above is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

8. Consider the following statements regarding
Climate Resilient Agriculture (CRA):

1. The Indian Council of Agricultural Research
(ICAR) launched a network project called
National Innovations in Climate Resilient
Agriculture (NICRA) in 2011 to promote
climate resilient agriculture.

2. The restructured National Bamboo Mission
(NBM) was launched in 2022.
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10.

11.

12.

ST weAl W W RE-H/A WE 22
(a) & 1 (b) wad 2
(¢) 1 22 =F (@ T 1, T2

. AT W a9 A1 (C+1) Hatd 8-

(a) &M & TY AIREH T8 FR T o

(b) = & WY WMRe Fadl H whear §

(c) WBUSN™ Hufl gR = & are faftmim
Al &1 faaR w9

(d) = T qEAH W 312 FIA |

TRATT @ a1 olell Td 9t =i g

* gay | frefafad s ) faar sifs:

. 9% ek HI Hehoudl YUHd: el guadg
AN (1969-74) ® W&IA &1 T8 off|

2. WRdE @@ W (FCI) &t €me a9 1975
¥ wra frm sifufta, 1974 & ofarda &t
T off

3. FCl AR @e= 9 faed & fod g
I W At ot sEfsa s 2

ST For § 4 HHA-UA TE 22?2

(a) dad 1 (b) HaA 2

(c) o 2 3N 3 (d) e 1 3R 3

fassa gmem stfufag, st g & ° == o w@n

2, P Hay § et HeH ©-

(a) ug Ifufem o= &7 9 fiead | =9 =
T 1 oy s B

(b) I SfufEm IEEaM & T wad Th
smeifener, afesh T clishdaite ads o 94
U UsHifqe gfaffa & ®9 | A= 95H
Tl 2l

(c) oo & day o wwqa fopen o o stfufrem
ST THR & §RI IS T Y9 Wi
Ea i

(d) =& fufEg =i iR fasaa & weg ol i
‘fom forelt gd od &' SQmEn 3 w1 THed
Tl 2l

BT B § HOH 229 WNG-&H diftieh e T e

9 dafyd = wededl & day H fefated

ol W fo=m i

1. & Tegafa gfed 3 AR gemEEst /g wd
T FE % Gared ARG THE ‘ST ATh
T2 Tgg 3 e’ § gt T

2. 99 2030 % YRA-®G fgusia MR &
g $200 fafeem fifa fean mm

10.

I1.

12.

Which of the statements given above is/are correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

China Plus One or (C + 1) is related to-

(a) Improving trade relations with China

(b) Intensifying strategic relations with China

(c) Multinational
manufacturing units outside China

companies expanding

(d) Absolute sovereignty of China over Taiwan

Consider the following statements regarding Indian
food grain distribution system and buffer stock
policy:

1. The concept of buffer stock was first
introduced in the Fourth Five Year Plan
(1969-74).

2. Food Corporation of India (FCI) was
established in the year 1975 under the Food
Corporation Act, 1974.

3. FCI also conducts e-auctions from time to
time to deal with surplus foodgrains.

Which of the statements given above is/are correct?
(a) 1only (b) 2 only
(¢) 2and 3 only (d) 1 and 3 only

Find the incorrect statement regarding the Tibet

Solution Act, which has been in the news recently,-

(a) This Act clearly opposes China’s claim on
Tibet.

(b) This Act recognizes the Dalai Lama not only
as a spiritual but also as a democratically
elected political representative.

(c) This Act s the first strategic step taken by the
US government regarding Tibet.

(d) This Act supports promoting dialogue
between China and Tibet ‘without any
preconditions’.

Consider the following statements regarding the
major events related to the recently concluded 22nd
India-Russia Annual Summit:

1. Russian President Putin honoured Indian
Prime Minister Narendra Modi with Russia’s
highest civilian honour ‘Order of St. Andrew
the Apostle’.

2. India-Russia bilateral trade target was set at
$200 billion by 2030.

SR H ¥ FE-T/E FUd WE e Which of the statements given above is/are correct?
(a) Had 1 (b) HaA 2 (a) 1 only (b) 2 only
(¢) 1 22 =H (@ F@1, T2 (c) Both1and?2 (d) Neither 1 nor 2
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13. 51 & ¥ 9Rd TS W9 & A o ‘sfear-whig

BIESH 2047 iU’ 79 ‘78 & fod AR’ &

e & YgEdl §f | 9Rd T Bid & fgueia

Heaui & e o frefafad seml w® four st

1. 9Rd W& WiE A 99 1998 H fguafia wrifas
TR 1 e 9 ygH

2. WNA U BE % HeT STHA qWAT] EHEil
a9 2008 H FIA g3

3. WG S AT St qrErs & et |
IR 1 Tg@ FEArT 2

ST § 9 forad wer wEr @7

(a) Had TH (b) HaA T

(c) |t = I

ORA-ITARY ggdrm & ged # freAfafed

FAl R fo=m Fifee:

1. 9Rd UE dFeRel & He TS |9y Jd
1996 ® &f TE off|

2. Al WM & WA W B Ard A i
TE 54 |

3. ‘ervarg Sifd’ <9 <30 % " B oTen T
o Ui g A= 2

4. 9RG TR § AR FH T FAY T
fafa Tiqex 2

S | ¥ fha FeA e 272

(a) Had TH OEEGR

(c) aa o= (d) Tft IR

15. T & H 41 99 9% IR gEEEEt A st

1 ik < fRan it &1 diferss

safafa & Ty ¥ fafafaad ol | fa=r

EAIERE

1. siffegan Sodt me RO o feord

2. 3" Y J@en & HiR feud gH % R
I TF FANF TRE W 2

ST | A HA-A FHUA TE B/

(a) Fad 1 (b) ®aA 2

(c) 1 3R 2 < (@ Fd 1,72

wigga fRefem et (FRT) & Hadg o

frfafaa wal | faar wifa:

1. 7€ Tk AANNGH o9& bl 2|

2. I, JUH, FHAEI a1 Ll & a] 9Ra
3 3o fafema & @ e € A 9os |
faer & wia faman 2

3. 9Rd WK A T & H 39 d&A (FRT)
& afyaen uftarer 2q, fSed e@y yar &
Uk ST Teh, Teh AT G T g&IER
e €l

14.

16.

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
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13. The importance of ‘Partnership for the Planet’ was
given prominence in the ‘India-France Horizon
2047 Roadmap’ concluded recently between India
and France. Consider the following statements in
the context of bilateral relations between India and
France:

1. India and France formalized the bilateral
strategic partnership in the year 1998.

2. The civil nuclear agreement between India
and France was concluded in the year 2008.

3. France is India’s major partner in the
construction of Jaitapur Nuclear Power
Project.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

14. Consider the following statements with reference
to India-Bangladesh cooperation:

1. The Ganga Water Treaty between India and
Bangladesh was signed in 1996.

2. The number of rivers shared between the two
countries is 54.

3. ‘EXERCISE SAMPRITI’ is a military
exercise between the two countries.

4. India is the second largest export destination
of Bangladesh in Asia.

How many of the above statements are incorrect?
(a) Only one (b) Only two
(c) Only three (d) All four

15. Recently, the Indian Prime Minister made an
official visit to Austria after 41 years. Consider the
following statements with reference to the
geographical location of Austria:

1. Austria is located in North Central Europe.
2. Being located within the Alps mountain
range, it is a very mountainous country.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2

16. Consider the following statements regarding Facial
Recognition Technology (FRT):

1. It is an algorithm based technology.

2. After UK, US, Canada and Australia, India
has recently passed a special law in the
Parliament to regulate it.

3. The Indian government has recently signed
an international treaty for global operation
of this technology (FRT) to prevent illegal

migration.
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17.

18.

19.

20.

ST H ¥ HHE-G/H HeH WE 2/E?

(a) e 1 (b) e 1 3R 2

(c) oel 1 3R 3 (d) e 2 3R 3

iR IWE Y&IU IH (GSLV) & HeH

freafafad ol | faar s

1. gg =heft e o1 @A =RoN aren Tk gL
IM 2

2. s foe fe o % wRIf wEst
IS o g3 R

3. I€ 10000 fHammm d& & STWEI &l AR
a1ed sfffde (LEO) = geat @t f=et wam
T o SH A Hem 2

SF A ¥ -9 FHUT WEr 7?2
(a) Foe | 3 2 (b) wae 2 3R 3
(c) ®ad 1 3R 3 (d) 1,2 33

T 1 Ao g et B

(a) eAfc@-L1 AP &1 Awadges gerad
FE G

(b) T ¥ T arelt fRwon & Hay § Wy w
SEEE |

(c) TS81 Trowr effde (GTO) @& 10 29 9R
q 9H * fd AR SARE ot e
(NGLV) a1 fasfad & & 3299 9

(d) @@ TeaRe @ e (SSLV) i
G -FHHENTH 391 & Y 30 HH I

A & H T feoeht & wRa Heuy H ‘Teltad fea

Al RTER gwed’ &1 emeH fhan T 39 gd

T 9Rd g H ghgman (Al) & fam™ gg S

fafy= Aremst & day o f=fafed wodi |

fo=r wifsE:

1. INDIAai fAvH 9Rd wd S0 & g IE
o T ww e faee 2

2. 9RA 99 2024 H TG IR B T T
(GPAI) =1 9@ 21e78] B, Sl WRd §fed 29
W 1 Th TgfedhRe TEd 2

ST § ¥ -G/ wUT WE 8/e?

(a) Faa 1 (b) wa 2

(¢) 1 3 2 =H (@ @1, T2

TOr[ 3UE (STIgfed & a9 fown) sifufrm

(PESA), 1996 & dHay ¥ fr=fafad wemi ™

fo=r wifsE:

1. o fuftem oreel ud Bt STyt o i
T W AN g 2

2. 3@ wifufem o srqgfad & #1 TR
244(1) ¥ IeaifEd &= & &9 ° IR
fopa T 2

3. g orfufem umm &+ fawm ufwen o
JAERT B Tk HE % ® H LA HLar )

17.

18.

19.

20.

Which of the statements given above is/are correct?
(a) 1only (b) 1and?2 only
(¢) 1and 3 only (d) 2 and 3 only

Consider the following statements with reference
to Geosynchronous Satellite Launch Vehicle
(GSLV):
1. It is a fourth generation three-stage launch
vehicle.
2. It has an indigenous cryogenic engine
installed in its lower part.
3. Itiscapable of carrying satellites up to 10000
kg to Lower Earth Orbit (LEO) or low Earth
orbit.

Which of the statements given above are correct?
(a) 1and?2only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3

ISRO’s ‘Project Surya’ is related to-

(a) Successfully conducting the Aditya-L1
mission

(b) Research and development related to the

rays coming from the sun

(c) With the aim of developing Next Generation

Launch Vehicle (NGLV) to carry 10 tonnes

of payload to Geo Transfer Orbit (GTO)

Upgrading the Small Satellite Launch

Vehicle (SSLV) with semi-cryogenic engine.

(d)

Recently, the ‘Global India AI Summit’ was
organized at Bharat Mandapam in New Delhi. In
this context, consider the following statements
regarding various plans launched by India for the
development of Artificial Intelligence (Al):

1. INDIAai Mission is a joint mission launched
by India and Denmark.

2. India is the lead chair of the Global
Partnership for AI (GPAI) in the year 2024,
which is a multi-stakeholder initiative of 29
countries including India.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither I nor 2

Consider the following statements regarding the
Panchayats (Extension to Scheduled Areas) Act
(PESA), 1996:

1. This Act applies to the States included in the
Fifth and Sixth Schedules.

2. In this Act, Scheduled Areas have been
defined as the areas mentioned in Article
244(1).

3. This Act establishes the Gram Sabha as a
forum for participation in the development
process.
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21.

22.

23.

ST H ¥ HHE-G/H HeH WE 2/E?

(a) Had 1

(b) wee 1 3R 2

(c) Wael 1 3R 3

(d) e 2 3R 3

qRd A HIhd S A (COP-26) TarEm R

e | 99 2070 Toh 39 IcES i YA dh

FH HE HI Yiaagal s, o fad 5-stamd

‘gofia’ Sereryg SwrEeR! & | fuiia fea )

T Tl & Gy o frmfafed wel ® faer

EAIERE

1. =9 2030 @ 500 THMENE TR-Siarea ol
Tl qh T

2. 99 2005 & WR 9 99 2030 % ALfAITLL
e IS dredl ° 55% 1 HH A

3. 99 2030 T FHA FAAMIA FHET Scas o
1 fafer =3 =t & @

Swde § 9 fohad e | €2

(a) HoA Th (b) e <

(c) It o= (d) =g o T

BTl € W ARd A U SRR @ W S fafeem

e, 58 e @9 d& (s R @)

el Sl 8, 1 qHH TS ST w1 ol

forn 21 2 WS @ Hay W ol FeH o

(a) T8 A oTfeieh & (THHRITS SRS
WA, S 100 fehel HEew @ Bl T,
ITY M FH AT B

(b) TE HWEEFR & o Q-fae 9 &
T 2

(c) Te fova &1 W WEh el 2

(d) T ¥ = Tl

‘T TR’ T M drel TR feHert & (IHR)

% gay ° frafafad s ) faer sifse:

1. ®sE 5 98 (CGWB) & AR 9Rd
femmera & ® 50% U ik IA g@ @ 2

2. 9 fOE, 2021 & SHER 9@ W FA
resifed o1 &5 fifee g &1 T 2l

3. foer fedmera distae =t a4 2017 o femmerit
& % e & ford ' fma e oem

ST | A HA-TA FHUA TE B/

(a) Fad 1

(b) et 1 3R 2

(c) Waal 1 3R 3

(d 1,213

21.

22.

23.

Which of the statements given above is/are correct?
(a) 1 only

(b) 1and 2 only

(c) 1and3 only

(d) 2 and 3 only

India has committed to reduce its emissions to net
zero by 2070 at the Conference of Parties (COP-26)
Glasgow summit by setting S-pronged
‘Panchamitra’ climate action targets. Consider the
following statements with respect to these targets:

1. Reaching 500 GW of non-fossil energy
capacity by 2030.

2. Reducing the carbon emission intensity of
the economy by 55% by 2030 from 2005
levels.

3. Reduce total projected carbon emissions by
1 billion tonnes by 2030.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Recently India has decided to support and ratify

the Biodiversity Agreement, beyond national

jurisdiction also known as High sea treaty. The

wrong statement regarding the High Seas is-

(a) Itisthe area beyond the Exclusive Economic
Zone, which is up to 100 nautical miles.

(b) It is equivalent to about two-thirds of the

oceans.

(c)

(d)

Consider the following statements regarding the

Indian Himalayan Region (IHR), called the ‘Water

Tower’:

1. According to the Central Ground Water
Board (CGWB), more than 50% of the
springs in the Indian Himalayan region are
drying up.

2. According to the Forest Report, 2021, a
decline has been recorded in the total forest
cover here.

It is a common property of the world.
None of these.

3. The Secure Himalaya Project was launched
in the year 2017 for the conservation of the
Himalayan region.

Which of the statements given above is/are correct?
(a) 1only

(b) 1and2only

(¢) 1and 3 only

(d) 1,2and3
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24. FAEEE NG TAARRAHS G (UNEP) & dss

¥ frefafed weml w foem Fifse:

1. 8 ®RwA 5 5, 1982 1 IR foran
ol

2. Uy g fEE, Tellee  THEEEHed
AETH T Hiead S0 HD FHTH B

3. ¥ 8 H UNEP® gN ‘Afaiifen = sifsa:
T Teliee hiEEe Rue o wred gey U
FEF o A3’ T ¢E ° T A S
FI TEI

ST § ¥ BHA-G/A HU W& 82

(a) Had 1

(b) wae 1 3R 3

(c) wad 2 3R 3

@ 1,2 2R3

25. TR Tehishd Tadig foeh™ %5 (ICIMOD) &1
gifern furd & TR fegew femmera (HKH) &
¥ fen @R Rerie freel T @ g T 21 gy
femmera afg =ty Al @ AR o &

Hay o frafafad g | faur wifa:

i:‘ T () e

1. | &= =, o 3 | 99 oia 9rR afdd
2. | o\ qhell Tk =
3. | et 76 (It ReR) | S8 =1 @ret
4. | TR et == |
Swfw # © fohad g wEt gufea 22

(a) Hod TH (b) wad |

(c) Haad dH (d) Fsft =R

26. form =i # == § ® ‘9w feufa & wfiea
A’ foRiY ®9 9 YR SUNREY & §ad H
frafafaa wot w® foar wif:

I 9Ra ¥ & a9 w1 70-90% AR HEA
% =R " (S 9 fadeR) & R 9w g
2

2. YR % Hl JAE & HT RN SAE-Y-
A & AT enenfa faeE | faef 2

3. 9Rd H B & ° e ¥ feerd |t wet
% fordl ‘aret dfep’ we ‘e wiee’ gl
T YA H1 T 2

STE W W -G/ Fe Wl 2722

(a) e 1 3R 2 (b) et 2 3R 3

(c) ed 3 @ 1,2 3R 3

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
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24. Consider the following statements with reference
to the United Nations Environment Programme

(UNEP):
1. This programme was launched on June 5,
1982.

2. Some of its publications are Emissions Gap
Report, Global Environmental Outlook and
Frontiers.

3. Recently, UNEP released a report titled
‘Navigating New Horizons: A Global
Foresight Report on Planetary Health and
Human Well Being’.

Which of the statements given above is/are correct?
(a) 1Only (b) 1and 3 only
(¢) 2and 3 only (d) 1,2and 3

25. According to a recent report by the International
Centre for Integrated Mountain Development
(ICIMOD), snow persistence in the Hindu Kush
Himalaya (HKH) region has reached a record low.
Consider the following pairs regarding the major

rivers of the Hindu Kush Himalaya basin and their

destination:
Sr. . . oy
River (Basin) Destination
No.
1. | Syr Darya, Amu | East Aral Sea Basin
Darya
2. | Tarim Takla Makan Desert
Yellow River Gulf of Bohai
Irrawaddy East China Sea

How many of the above pairs are correctly
matched?

(a) Only one
(¢c) Only three

(b) Only two
(d) All four

26. Consider the following statements about ‘Monsoon
contrary to normal conditions, that have been in
the news in the past few years, especially in the
context of the Indian subcontinent:

1. India receives 70-90% of its annual rainfall
during the four monsoon months (June to
September).

2. More than half of India’s total sown area is
dependent on monsoon-based irrigation.

3. Recently, a system of ‘water banking’ and
‘water credit’ has been introduced in India
for all buildings located in metropolitan
cities.

Which of the statements given above is/are correct?
(a) 1and?2 only (b) 2 and 3 only

(c) 3 only (d) 1,2and 3
T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
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27.

28.

29.

30.

A & H gedl fage HAe 7 WRNR & wUE

T o aRera foefwifsen o dered mes

T TRy Geur ot 7eg 9§ e w1 -t

fehal TR TR AR gl w1 wE TE

fopa 22

(a) 4 TwaeR (b) 6 feretHIeX

(c) 8 fmameR (d) 10 fwamRR

B B H 9Rd H S &1 HH h HRO S A

AR T GioRA shfee e &l & &1 el BAA3

(fretam few-Ue) 9oft o @ 21 9 | e

o SAforR[d 3EA & Had H fFrefafed s ®

fo=m =ifs:

1. 9Ra ¥ fog = 2024 # Siafaga 3o faq
9§ 2023 & g § % g3 B

2. 1700 =1 HeX @ A i AfH STt 1 STt
1 TR S qAE/Ee BE' s g9 #

3. 9Rd U 'S aAeE/ae Ve 29 2

ITH woAl H W FA-G/A HeH T 2/87?

(a) a1 (b) wae 2 3R 3

(c) Waa 1 3R 3 (d) T @ *IE T

A A T WHR Slihel & SER e |

Hell @ =Tl | 97% <o €1 9Rd W "ol Shiwe

AR YOS YeA ¥ Gt frefaied werl

fo=m wifsa:

1. 739 wfaum genem sfufem, 1992 & dgd
wresdl |fed el Waet i A SR
faaor &1 e wed feml w2

2. o9 2013 & St o Her @ i gRErm
F gEw H @ w e, |t fF ad 1993
% 7 faege o afvfa a9 f9=1 o

ST § ¥ BH-G/A FUT WE 82

(a) ®aa 1 (b) Had 2

(¢) 1 22 =F (@ a1, T2

TE € H galed =g 4 $s GR 9 Afgen

HUAE & T mfges o /e |t oSt

Fifg TR *H * Fer 21 39 T F fefatea

HYAl R fo=m wifsH:

1. oeR 3R e U8 9RdE U9 ©, STef "
o sty % fod fogm Hife=t 21

2. T wEE G 9 7, S Aigen wHwiE
1 AR o W T TR Yo T B

3. AR Hfaum &1 A7s8s-15(3) Afecnedi &
ferd faeie wEum e @ qen dfecrs i
€ EHY TEH oA M i e Seura
1 Gl 37 a1 Hal 1 WS T B

4. IR GfauH & ATE5-42 H STIER T
HH I FEET SR At g
TN W TRl & fad 3qay |

27.

28.

29.

30.

Recently, the Ministry of Earth Sciences has started
a project of scientific deep drilling to a depth of
the earth’s crust with the help of a specialised
institute called Borehole Geophysics Research
Laboratory located in Karad, Maharashtra. How

deep it is?

(a) 4km (b) 6 km

(¢) 8km (d) 10 km

Recently, due to water scarcity in India,

Moody’s has downgraded India’s sovereign
credit rating to the previously stable BAA3
(lowest investment-grade) category. Consider the
following statements with reference to water and
hydropower generation in India:
1. Hydropower generation in India has decreased
in FY 2024 as compared to FY 2023.
2. Per capita water availability level of less than
1700 cubic meters indicates ‘water stress’.
3. Indiais a ‘water stressed’ country.

Which of the statements given above is/are
incorrect?

(a) 1only (b) 2 and 3 only

(¢) 1and3 only (d) None of these

According to recent government data, 97% of
manual scavengers are Dalits. Consider the
following statements related to faecal sludge and
septage management in India:

1. Under the 73rd Constitutional Amendment
Act, 1992, urban bodies are responsible for
planning and delivery of urban services,
including sanitation.

2. The 2013 Act broadened the definition of
manual scavenging from the definition in the
original 1993 Bill.

Which of the statements given above is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

Recently, the Supreme Court has asked the Central
Government to prepare a model policy on
menstrual leave for women employees. In this
context, consider the following statements:

1. Bihar and Kerala are the Indian states which
have special policies for menstrual leave.

2. Spain is the first European country to provide
paid leave to women employees during
menstruation.

3. Article 15(3) ofthe Indian Constitution makes
special provisions for women and refutes the
views that term the provision of this leave to
women as gender discrimination.

4. According to Article 42 of the Indian
Constitution, the State shall provide for
just and humane conditions of work and
maternity relief.
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31.

32.

33.

Sl § 9 fohad e | €2

(a) e ThH (b) e

(c) Haad o (d) |+t =R

T T W Ukhasd diea Hwefime fammeat

(EMRS) ¥ ot & o s 2023-24 o &<

FI A <o & T A WHA FE B HRO

wetel B W SHendra foren Srewen & dey o

frafafed wol W foer #ifsa:

1. EMRS U 9Rd H 9RdE SHenfaa & fad
Oied TaE faame™ s H & T A
2, foresht geema o 1997-98 H g% offl

2. TSie M U Wi A 1995-96 H
& &I T, O 3529F ST HRE & Bl
%1 w.firel e du=E). felt St s=a fan
U I B AIedTed S ol

ST § ¥ BH-G/A FUT W& 80

(a) Fad 1 (b) wad 2

(c) 1 3R 2 g (@ T 1, T2

HIV/AIDS &Ml &1 U%um™ & g o

frefafed § § H-9/HHE-8 FoH T8 27272

1. “T TSl oA T18: TEW T T hid Ued”
e Yides el R ot ' € ° aee
e SANMESYE (WHO) §N S fohen
™ 2

2. 9Rd ® 3@ HeMr 9§ fued % fod HIV @ik
AIDS (Ao we fason) sifufm i ad
2017 ® wifd fewan

3. TS EemRa 9 (ART), St HIV/AIDS &
SR ¥ e €, h1 9g9 oreft aoh
IR qek Tl 2

I S8 T 2 F YI R Wl S| g

(a) ®ad 1 (b) HaA 2

(c) eed 1 3R 3 (d) e 2 3R 3

T & H wared e A 399 A1 fagjera Hitean

¥ feeaimsHl (PWDs) & fowg ®feartaar 3

deure W Uk & T feen-fdw s fovar €

PWDs ¥ Hafyd frfafad seml ® four ifaa:

1. SO 2011 o STIER I W H RS
1 G 2 yiawd @ %A 2

2. Teeame SAfysR SAfufd, 2016 & STTER
21 YR & feeaimaet w fafed fwen
T R

3. ‘gfagm wrEMAfa’ @ ey e R e
g o feonoHl & Afusrl & WeR F
g 2l

31.

32.

33.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four

Consider the following statements regarding the
tribal education system, which has been in the news
recently due to the inclusion of Hindi as a
mandatory skill in the Budget 2023-24 for
admission to Eklavya Model Residential Schools

(EMRS):

1. EMRS is a scheme to build model residential
schools for Indian tribes across India, which
was started in the year 1997-98.

2. Rajiv Gandhi National Fellowship Scheme
was started in 1995-96, with the aim of
encouraging students of ST community to
pursue higher education like M.Phil and
Ph.D. degrees.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

Which of the following statements is/are correct
with reference to prevention of HIV/AIDS
epidemic?

1. Areport titled “The Urgency of Now: AIDS
at the Crossroads” has been recently released
by the World Health Organization (WHO).

2. The HIV and AIDS (Prevention and Control)
Act was passed in 2017 to tackle this
epidemic in India.

3. Aantiretroviral Therapy (ART), which is
helpful in the treatment of HIV/AIDS, is still
not accessible to Indian citizens.

Select the correct answer using the code given
below:

(a) 1only

(¢) 1and 3 only

(b) 2 only
(d) 2 and 3 only

Recently, the Supreme Court has issued guidelines
to prevent stereotyping and discrimination against
persons with disabilities (PWDs) in visual media.
Consider the following statements related to
PWDs:
1. According to Census 2011, the number of
PWDs in the country is less than 2 percent.
2. According to the Rights of Persons with
Disabilities Act, 2016, 21 types of disabilities
have been identified.
3. The ‘Incheon Strategy’ is related to realizing
the rights of persons with disabilities in Asia
and the Pacific region.
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34.

35.

36.

Iw wol W WS-8 HWET 7?2

(a) 1 32 (b) 1 3R 3

(c) 2 3R 3 (d 1,2 3R 3

B € o T wen stemEa o faish 1 ages

Giid & WY T HE 1 &TEAT T Gl Wl

e sfie™ ¥ 9ifd Td I & fow™ & gad

o HHA-G/HHA-8 HoF Teld 8787

1. Hifid amEEs aSM &1 gHdl T 40000
¥ weot faskfad g, fogeht St | o9
e T F Te ¥ Agd F @ 3

2. IR ® @id @R (‘= Y, W, W, 9, e,
1) = safa 3w w1 & R g e

= fe MU 2 * W@ wR W SW g

(a) dad 1 (b) Had 2

(c) 1 &R 2 g (@ a1, T2

frfafea wol ® faar wifa:

HUA-1: HU gA 1855 | fogl oiX @y &

I ® ‘IHF T R’ & H gal

HIA-11: Tl d=ias gonett (1793) + SRt

@ refepifereh HUMA & AfYHR T8H |

SuH HeAl & Heoy o frefafed o 9 wE-w

& 22

(a) HEF-1 3R HeF-11 T Tel € a1 weF-11,

FHUA-1 HI @ F 2

FoA-1 @R weA-Il A ®mE ¥, fg

FHeF-11, FoF-1 H AT T& L 2

(c) HUA-1 W B, Fohg weM-11 W&l = 21

(d) weA-1 WE &, forg wem-11 W&l 2

A W MUl Sl SSHREN W UH W

femrehen, St gf@n &1 ga® A ‘el § wer

wed w1 T wed ¥, foen ?1 @ ged o

frafafed ® foer w3

1. vheehaiel & IA-TeR TESH H hedwe
frea &t [ g@en (U-Series) fagarmon
H ITT HT @ I hell 1 TAERT
T 21

2. 9NG § wad WEH feeehand = quEmo
A HT S, S T STedtol H @ § of
gl & B

(b)

34.

35.

36.

Which of the statements given above are correct?
(a) land2 (b) 1and3

(c) 2and3 (d) 1,2and 3

A recent study has revealed the ability of
chimpanzees to dance to rhythmic music. Which
of the following statements is/are incorrect
regarding the evolution of music and dance in
human history?

1. The ability to play musical instruments
evolved about 40,000 years ago, exemplified
by the discovery of the seven-hole flute made
of animal bone.

2. Musical notes (‘sa, re, ga, ma, pa, dha, ni’)
originated in India during the Vedic period.

Select the correct answer using the code given
below:

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Consider the following statements:

Statement-I: Santhal Hul took place in 1855 in
the ‘Damin-i-Koh’ area under the leadership of
Sidhu and Kanhu.

Statement-II: The Permanent Settlement System
(1793) granted long-term property rights to the
zamindars.

Which one of the following is correct in respect of
the above statements?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation for Statement-I

(b)

(c) Statement-I is correct but Statement-II is
incorrect

Statement-I is incorrect but Statement-II is
correct

(d)

Researchers have recently found a cave painting
in Indonesia, which is the world’s oldest known
evidence of ‘storytelling in art’. Consider the
following in this context:

1. Researchers have dated this rock art using
U-series analysis of calcite deposits in
limestone caves.

2. The oldest paintings in India date back to
the Upper Paleolithic period, even before the
discovery of Altamira in Spain.

Select the correct answer using the code given

I S8 T 2 F FE R W& S| g below:
(a) ®aa 1 (b) Had 2 (a) 1 only (b) 2 only
(c) 1 3R 2 g (d Fd1, T8 2 (c) Both1and2 (d) Neither 1 nor 2
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37.

38.

39.

40.

el & Hey o, frefafgd § @ sE-|rA

FUT WET B/R?

1. FiEEm & @Sk (FEU FHAew J§-1760)
7 o ofm +1 9 (1763) & ded
HIETEE o U i gl &l aTE Wil
e am

2. [ R FERA 9RA & SRy
FROSA qC & Y qoO T8 i TF 9
R o=t ArereR 9 W fem B

I= < T 2 & W@ W EE W g

(a) ®aa 1 (b) ®ad 2

(c) 1 3 2 g (d Fd 1, T2

Tel € A g SR STy R HgH T HEe

(UNODC) forga g fdié-2024 S &1 21 39

e & oTER STRiKT T W ukE ugielf &1

Yo & W Hefod Fod SR AU ASh

wref 7 -

(a) At (b) sifasizem

(c) TheME" (d) A

TH-HIHR H eadRarg § foed 3q SR gN

IIM T HH & Faw B Frefafed g w

faar wife:

EXx:H B L)
1. | ST =9 a9 - 2015
2. |fowm 3= & T - 2020
e

3. | fermen wwsta ad - 1975

4. | 3BME (J&K) T - 2011-12
StdF § @ fRad g Wt gafea &2
(a) Had Th (b) Ha A
(c) Had = (d) |+t IR

T & H &7 HACT A & Seget ¥ Heifuq ureet

THNIAS el Tt (PIL) sifergfaa =1 21

g ged o frAfafed wul w faar #ifsa:

1. 3H YR ! & AR Gl (DAP)
2020 § U9 fwmam T em

2. F® A T HAGE ® G WA W
IueTe 2

3. & o § gy foseht faw (FDI) Aifd s@
Wafed ARt & q8d 50% d foaelt e
1 Al <t 2

4. 9G¥ < e i Terrl o
fran <1 @1, o T S wew # qen

T dferg W 2

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
ﬁ‘lﬁilq = @S TR, e wm, | fene ufienr =i,

faeefi-110000 | T Teeeht | fafaer e, wEmRS
(Magazine Test)

37. With reference to Puducherry, which of the
following statements is/are correct?

1. The French returned Puducherry to the
British under the Battle of Wandiwash (Third
Carnatic War-1760) and the decisive Treaty
of Paris (1763).

2. Puducherry and Karaikal are located along
the south-eastern Coromandel Coast of India
and Mahe on the western Malabar coast,
bordered by the state of Kerala.

Select the correct answer using the code given

below:
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

38. Recently, the United Nations Office on Drugs and
Crime (UNODC) has released the World Drug
Report-2024. According to this report, the most
popular drug related to drug abuse at the
international level is-

(a) Cannabis (b) Opioids
(¢) Amphetamines (d) Cocaine

39. Consider the following pairs regarding the steps
taken by the government to deal with terrorism in
Jammu and Kashmir:

S.N. Initiative Year
1. | Ufa Declaration Year - 2015
2. | Revocation of Year - 2020

Special Status
3. | Shimla Agreement | Year - 1975

Udaan (J&K) Year - 2011-12
How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) Only three (d) All four

40. Recently, the Ministry of Defence has notified the
fifth Positive Indigenisation List (PIL) related to
defence items. Consider the following statements
in this context:

1. The concept was introduced in the Defence
Acquisition Procedure (DAP) 2020.

2. Thelistis available on the Srijan portal of the
Ministry of Defence.

3. The Foreign Direct Investment (FDI) policy
in defence sector now allows up to 50%
foreign investment under the automatic route.

4. Two defence industrial corridors are being
developed in India, one in Uttar Pradesh and
the other in Tamil Nadu.

T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
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42.

43.

Sl § 9 fohad e | €2

(a) Had TH (b) ®aA ]

(c) ®dga @ (d) |+t =R

T R 9 gty fafafed € 7 g =

fo=m =ifs:

1. SF 2024 9 H93 4 U< g fagia
(NSD) = 9gdad ¥ 9id fewam

2. TS Sir" TSE (NIA) & &sfeshr § 2019
% WM & 9% ofd favkled gl wE
YEsR AMqeharg shi ot Sl i B

3. e Toidl HevEg-TSdl @ (MAC) T8
AT R HTfoTd Y& Haet SHehil Tkt
T SR e B Th 24 x 7 HE B

SUge el ° W RA-G/d W& 2/R?
(a) o 1 (b) Faa 1 3R 2
(c) ®ad 1 3R 3 (d) e 2 3R 3

T FerEdn iR S9aT T&d (HADR) @ @it
TE 9919 (SAR) AR & Hag | 3 T8 Faet
R faar it

TR Teraor LS IR
T A
. | el | ge@ 9 A |
HE ORAT AT
EAREEIE]
2. | WA | Ihard "=l | SSEREN
HET % W] SR
Ted
3. | SRIgH TEAYH Fifed, IR
AffemE | 3 s
eI ITER 94
o st
P i
TR
sAferemtfeat st
RG]
U gEr § W ferat uferEl @@t gaferd 22
(a) HId TH (b) ®ad |
(c) aa (d) =g T

A & H TR 7 WE & W 9 S o

Tt et & At | st fafae e (s@em)

et ® iy w1 sifugfaa fhan €1 38 g

¥ frafafad wel W faar St

1. =9 fremmEe # dfean T wy=mal &
fe@ 150 57 & 9g@ sTas™ &1 Wau=
fopan T 2

2. wfawHT fyar (382 W) & fod oft 21
7 & fuge stashTer 1 qaEe foHan w2

41.

42.

43.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four

Consider the following information related to
national security:

1. In June 2024, the Parliament passed the
National Security Doctrine (NSD) by
majority.

2. Thejurisdiction of the National Investigation
Agency (NIA) now includes explosives and
cyber terrorism after the 2019 amendment.

3. The Multi Agency Centre (MAC) is a 24x7
platform for collecting and sharing security-
related information operated by the Ministry
of Home Affairs.

Which of'the statements given above is/are correct?
(a) 1only (b) 1and?2 only
(¢) 1and3 only (d) 2 and 3 only

Consider the following information regarding
Humanitarian Assistance and Disaster Relief
(HADR) and Search and Rescue (SAR) operations:
S. Name of the
No. operation

1. | Operation
Cauvery

Description Place

Evacuation of | Red Sea
Indian
nationals

from Sudan

Disaster relief | Indonesia
following
Cyclone

Mocha

Assisting
local
authorities in
firefighting
efforts at
Brahmapuram
Solid Waste
Treatment
Plant

2. | Operation
Karuna

Kochi,
India

3. | Brahmapuram
Fire Relief

How many rows of the above information are
correctly matched?
(a) Only one

(c) Only three

(b) Only two
(d) None

Recently, the government has notified amendments
in the Central Civil Services (Leave) Rules in the
case of babies born through surrogacy. Consider
the following statements in this context:
1. This rule provides for 150 days of maternity
leave for female government employees.
2. Aprovision of 21 days of paternity leave has
also been made for the intending father.
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44.

45.

46.

ST H 9 HHE-G/H HH TAd 8/87

(a) Had 1 (b) HaA 2

(c) 1 &R 2 g (d Fd@1, T2

B B H TE H © SiEe Hd, AR

Hfgar (BNS), R AR gRaq diedr (BNSS)

% Gay § frafafed wuml w foem Fifse:

1. 3 HT | T, 2024 ¥ 996 g

2. U WIE MU T w1 Avit H eAdehars,
Hfe feifem, gufed souy iR Afeensti wa

el & fovg TH 9t oTaudl & o afga
<5 Wt 2

3. IPC 3R CrPC U &Il & 3H & 9=
qeenTel frsqeqrat &t Sira|

ST kUl H W hHE-H/RA-H WE /2?2

(a) ®ad 1 (b) ®ad 2

(c) eel 1 3R 3 (d) ee 2 3R 3

B & ° 25 SA Hl dfaue g fom & ' °

=id fFa 9= & ey § fefafaa e |

foam wifsmar:

1. 9Rd H o1ft q 4 9R TS AR i
Hoon g2 7

2. YUH SAMAHIA ¥R TS UWfhEH I &
A T 1962 | 1968 T HE @I

3. JdE SMuEERta 9§ 1975 ¥ 1977
‘IRl qfed G’ @ SR sifad fee
T

ITH woAl W FA-G/RA-Y T 27272

(a) Haad 1 (b) e 1 3R 2

(c) wad 1 3R 3 (d) e 2 3R 3

A & H WUeE @ 290 fawm (DAHD) H

ST 213 IR[E SO &% o U e

H A R 9RG W HT S At 9gEe

STOET % Hay ¥ fAfafed sl | faEr

HIfST:

1. 39 1919 § 9% 5 & H QI H e
SO SRS R S @ R

2. Y foe =q ' U= aEE e’ (NLM)
I | 3 Su-faeH wnfhet ©

SwE FeAl W 9 SE-H/A WE 222

(a) ®aa 1

(b) Faad 2

(¢) 1 @ 2 =H

(d [d1,38 2

44,

45.

46.

Which of the statements given above is/are
incorrect?
(a) 1 only
(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements regarding
recently in news criminal laws, Indian Justice Code
(BNS), Indian Civil Security Code (BNSS):

1. These laws came into effect from August 1,
2024.

2. The newly added category of crimes includes
terrorism, mob lynching, organised crime
and enhanced penalties for crimes against
women and children.

3. IPC and CrPC will become ineffective
immediately after the introduction of the
new laws.

Which of the statements given above is/are correct?
(b) 2 only
(d) 2 and 3 only

(a) 1only
(¢) 1and 3 only

Consider the following statements regarding the
recent declaration of 25 June as Constitution
Murder Day:

1. National emergency has been declared three
times in India so far.

2. The first emergency was in effect from 1962
to 1968 during the India-Pakistan war.

3. The third emergency was declared from 1975
to 1977 due to the ‘Bangladesh Liberation
War’.

Which of the statements given above is/are
incorrect?

(a) 1only

(¢) 1and 3 only

(b) 1 and 2 only
(d) 2 and 3 only

Recently, the Department of Animal Husbandry
and Dairying (DAHD) organized a workshop for
the upcoming 2 1st Livestock Census. Consider the
following statements regarding the livestock
census conducted in India:
1. Livestock census has been conducted across
the country every 5 years since 1919.
2. The ‘National Livestock Mission” (NLM)
scheme for livestock development includes
3 sub-missions.

Which of the statements given above is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2
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47.

48.

49.

frafafed el | faar sifsa:

HIA-I: T & § AR o o J o 2024
¥ 2027 ®t 7afy &% fa@d SAARC (o wfvrng
&g wWeam W) 3w % §ed ¥ gm fafwm
?q T Gt gien o] & 1 Fofa foran 2
HIF-11: 51 fafome 1 TP Ted a9 @H
% HTH I P F A= e e e
@ % WY HESA % RE-UEH 'q A T
T
HAT-II1: HE Sk 3R THR R AeqehTiersh
ol q51 T STeRAhMSl i IU HE e
T Fged Fhe ¥ F99 8 TH: 39 THR &
EXCCRCRRS iy
IwH HeAl & Heoy o Fefated § 9 sE-w
wd 27
(a) FHEE-I1 3R FHeA-111 A1 T & aon A,
FHoA-1 1 A W B
HeA-11 #IR weA-111 < wel €, forg s
Y Sael T, HUA-1 i AR HL 2B
(c) HOF-1I 3 FeA-11 & & el Th TEl &
3R 98 HUA-1 1 A H 2
(d) 7 d w11, T & FHUA-111 Tl 2
T & § 9 fied | (RBI) ‘Wisiee Foeq’
o ot B T R Wielee Ao § Hela wel
o frefafad § 9 sHA-91 @8 22
(a) ¥E S HR TEIFEA HIewie (BIS) ® gN
Heanferd =Re] @Rd Jiae gunterdt (FPS) @i
3MIH H SSHT TohTel WA IR G ST
I HeW HE % ol Th Ted @
IE HEANHA TRM Tk 6 (FATF) &
TR Gfed 3TIY H Uk ¥ Hefed TH
HET Tew 2
(c) I€ RBI® §RI THANHE WIS &l Uhd &
fod S WR gervEd Y2 (BIS) &
I TR W1 2 o T s Afvaw
o 2
(d) = ¥ &K T
T g H Ot T8 SR wEeed qAed
(MoSPI) g1 U= warsti & o smem o
(Base Year) & GIMeA i THel & & fod
frAfafea § 9 frgs! srexerar  gfufa &1 7eq
IERIR I

(b)

(b)

47.

48.

49.

Consider the following statements:

Statement-I: Recently, the Reserve Bank of India
has decided to introduce a revised framework for
currency regulation in the context of SAARC
(South Asian Association for Regional Cooperation)
countries for the period 2024 to 2027.

Statement-11: Currency Swap means an agreement
between two countries for the exchange of
currencies with predetermined terms and conditions
in order to maintain liquidity.

Statement-II1: Such provisions are often made by
central banks and governments to meet short-term
foreign exchange liquidity requirements or to avoid
balance of payments crises.

Which one of the following is correct in respect of
the above statements?

(a) Both Statement-II and
correct and both of them explain Statement-1
Both Statement-II and Statement-III are
correct, but only one of them explains

Statement-III are

(b)

Statement-I

(c) Only one of the Statements II and III is
correct and that explains Statement-1

(d) Neither Statement-II nor Statement-III is

correct

Recently the Reserve Bank of India (RBI) has

joined ‘Project Nexus’. Which of the following

statements related to Project Nexus is correct?

(a) Itisaninitiativeto enable instant cross-border
retail payments by interconnecting domestic
instant payment systems (FPS) operated by
the Bank for International Settlement (BIS).

(b) It is an international initiative related to

preventing organized crime by the Financial

Action Task Force (FATF).

(c) It is a global agreement made by the RBI
with the Bank for International Settlement
(BIS) for data sharing to prevent economic
fraud.

(d) None of these.

Recently, a committee has been constituted by the
Ministry of Statistics and Program Implementation
(MoSPI) under the chairmanship of which of the
following to review the revision of base year for
national accounts?

(a) T X (b) gfa =g (a) Tapan Ray (b) Sumit Bose
(c) H&d qITd (d) fegadrE MasR (¢) Mukul Mudgal (d) Bishwanath Goldar
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50.

51.

52.

53.

gReta Rerd S (RBI) & gN1 Widged wog o

IR ffd S ot foxfta wmeRe g’

% Hay ¥ freafafed sl ) foem Fifse:

1. 39 go&i% | §& &9 ¥ dF AMse wHa
g, ‘wgw’, ‘STEn’ o

2. 9 YA & FATIR a9 2023 FHl qo T H
¥ 2024 § foredts wuEyH W@ 2

Iwde weAl W 9 SHE-E/d W@ 2

(a) ®aa 1 (b) ®ad 2

(¢) 1 @ 2 =H (@ Fd@1,ITE 2

TRA-THIH] Tied offed Hie & day o

frfafea wui ® faar wifa:

1. ¥ ‘gfada 9 I’ & Ifao-sfa
AR Freproia wedm' wEwA & ded Th
T T

2. W Tfew W qA FAReE WIH URSH
e & "edm 9 srEfa fean s 21

ST For H§ 4 HHA-TUA TE 22?2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (@ Fd 1,72

B & H J=ieT H | H/S WA @ 3% TR

% Hay ¥ frefafaa < 1 g « faer st

wIfeia eI ferawor

l. | FIfF®RE (FT@) | @R 5N Hiied

FH T H T H

T

I & 41000 I

EeNE] T HEA ® G

3. | TR (3T UR¥) | EHAYRH Hi

STgF § @ fohad g Wt gafea &2

(a) Had TH OEEGR

(c) Haa = (d) w1 ot &

ga & W fRfad=l yRonfeR 1 wuen ==t &1

faw @ 21 3@ way | gAde e el ue

o TeiEt (UNRWA) & Fay | frefafea swemt

T foar Fifsa:

1. UNWRA T TT9T 1948 H T 3NA-355a
I§ o ST HI T A G T 1949
H w1 M el

2. 3UHT 399 fava § el ot Sud yronfefat
1 woe ¥ fue 2

2. | REYET HIFeH

ST HeAl § W wH-GUA W 2?2
(a) e 1 (b) Fee 2
(c) 1 3R 2 T (@ F@1,TE 2

50.

51.

52.

53.

Consider the following statements regarding the
‘Financial Inclusion Index’ published by the
Reserve Bank of India (RBI) every year in July:
1. This index primarily comprises three
parameters, ‘access’, ‘usage’ and ‘quality’.
2. According to this index, financial inclusion
has increased in the year 2024 as compared
to the year 2023.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

Consider the following statements regarding India-
Africa Postal Leaders Meet:

1. Itis an initiative under the ‘South-South and
Triangular Cooperation’ programme of the
‘Universal Postal Union’.

2. It is organised in collaboration with India
Post and the United States Postal Service.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following information regarding some

places which were in news recently and their
details:

S.No. Place in news Description
l. Kozhikode Recognized
(Kerala) as a City of
Literature by
UNESCO
2. | Kusmunda Coal Discovery of
Mine 41000 years old
ostrich nest
3. | Prakasam (Andhra | Samayapuram
Pradesh) Temple

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) Only three (d) None

Recently, the problem of Palestinian refugees has
been a topic of discussion. In this regard, consider
the following statements regarding the United
Nations Relief and Works Agency (UNRWA):

1. UNRWA was established in 1949 by the
United Nations General Assembly after the
Arab-Israeli War of 1948.

2. Its objective is to deal with the problem of
refugees arising anywhere in the world.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2
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54. oy <o 9fy & day o frafafed woml | faar
EAISRR
1. 39 5a | W FTA.SM (UNO) ST HEFRI
% IWd gEER fRd T o

2. 9RA & ATUHR &5 § T, A IR Fael,
et TfREE & AR ax S,
o o gy = ot €

3. 9Rd A &I S FaE % 7 20 Fiav &
T el 1 & ST HL uw€ B

ST Ferl § 4 HHA-UA TE 22?2

(a) Had 1 (b) et 1 3R 2

(c) ®ae 1 3R 3 (d) et 2 3R 3

55. ML IW-3feror gRags M= (INSTC) &

Hay ° frafafad womi W foaur Sifsa:

1. F& 7200 faer oo afeedre 2ife &<
g, Sl w9 & 92 dedwt ® W # Tt
3T SSUME Bd g ARG & HaIg dauTs
Y Srear 2

2. B E W ®W A TEell IR 3H TR W
AN Y HF W 9 2 3 9Ra 9 )

ST For H§ 4 HHA-TUA TE 22?2

(a) ®adA 1 (b) o 2

(c) 1 3R 2 i (d @1, A2

AR SARE STHYM ded (ISRO) & oIk

The' & Hael § HE HoA o-

(a) 7€ T WEUU I €, W e A

o W o wem B

T Th TH: WA FHEE e B

I8 TWHIH e ° wge g are T =

e B

e T g Tt wearl & ford smEn

Th T Hemee =iehd g

B1el €1 A ==l | © STl 9’ 1 @it SRt

1 Frefafag § 9 frg fesd @ o St 22

(a) HEHEF R Sa] 30 W 1 763
Y ¥ wfqee feafq & wifereeig nfafafe=i =i
i =1 & HH o WeW B @

(b) WEEheERR RfCART e 38 W i
Teg o e aeH o we TS S 2l

(c) a 3R b T

(d) T 9 *E T

56.

(b)
(©)

(d)

57.

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
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54. Consider the following statements regarding the
Indus Water Treaty:

1. This water treaty was signed after the
mediation of UNO.

2. Ravi, Beas and Sutlej rivers come under the
jurisdiction of India, while Jhelum, Chenab
and Indus rivers come under the jurisdiction
of Pakistan.

3. India is able to use only about 20 percent of
the total river water flow.

Which of the statements given above is/are correct?
(a) 1 only (b) 1and 2 only
(c) 1and 3 only (d) 2 and 3 only

55. Consider the following statements regarding
International North-South Transport Corridor
(INSTC):

1. It is a 7200 km long multimodal transit
route connecting St. Petersburg of Russia to
Mumbeai port in India via Bandar Abbas port
of Iran.

2. Recently, Russia has sent 2 trains loaded
with coal to India for the first time using this
corridor.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2

56. The correct statement regarding the ‘Pushpak
Rocket” of Indian Space Research Organization
(ISRO) is:

(a) It is a launch vehicle, which is capable of
carrying passengers into space.

(b) It is a reusable launch rocket.

(c) It is a main rocket used in the Gaganyaan

mission.

It is a small satellite vehicle made by ISRO

for private institutions.

(d)

57. The discovery of ‘Balon protein’, which was in
the news recently, leads scientists to which of the
following conclusions?

(a) Psychrobacter uretivorans bacteria are able
to slow down or stop cellular activities in
unfavourable conditions with the help of this
protein.

(b) Psychrobacter uretivorans bacteria reproduce

successfully in low temperatures with the

help of this protein.
(c) Bothaandb
(d) None of these

T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
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58.

59.

60.

61.

T & A wF fafew aRE ® ufee (ff)

% S &l FEGE w0 & fod afess gemo

IUHTOT A T R | et (ft) wee e

% frefatea fee e @ dafuq faer 22

(a) HiET=h TH wHe

(b) HiET=h T T

(c) ¥F TH qfrept o

(d) dfreht o Td AfTsh

Hed SAfese Tielhefaed o day | ffafad

FeAl W fo=m Fifee:

1. 39 e €, Sl YRRl % G A M W
Al sk w1 R H aEd o 2

2. gfm seEe, e sifese, 37 %9
I R

3. Hed eEEE Al wEfSE %1 WeE 9
el W e R S Heha B

4. TR SUEAN G SR T & A et
TSl & fased ® ferd fRar s wehar 2

Sude oAl W W SHE-arE W@ 2E?

(a) %o 1 (b) el 1 3 2

(c) ®a@ 1,2 33 (d) 1,2,3 3R 4

TERICHAEATE (EEG) & Hay o ffataa

Fel R =R Fifee:

I. EEG ! s/H7 fpfeaieifse 89 ook & gra
faerfaa fran = em

2. EEG AMa "fedsh § =09 &1 wfafary, s
Al FT AGH-IIH FW & H WO R
@ soRed &1 AeE ¥ g we €

ST wUAl § W wE-E/A W@ 8?2

(a) HaA 1

(b) Had 2

(c) 1 3R 2 T

(d Fd 1,782

TSI WSiee & oY H T e 8-

(a) THHT el BRI § 3T & G AR o1 ©
el & GO 9 B

(b) NG TR gN TH GRASHI &1 wfeT i
T T

(c) 39 uREmm § el w d@mW o # 2 e
=1 faten wa = @ A

(d) 3 T % aEeE el % oy fmn o
g g =

58.

59.

60.

61.

Recently a brain implant device has been installed
in a British citizen to control epilepsy attacks.
Epilepsy is a disorder related to which of the
following parts of the human body?

(a) Brain and lungs

(b) Brain and heart

(c) Heart and nervous system

(d) Nervous system and brain

Consider the following statements regarding metal
oxide photocatalysts:
1. These are substances that change the rate of
a chemical reaction when exposed to light.
2. Titanium oxide, zinc oxide are some of its
examples.
3. Environment can be cleaned with the help of
metal oxide nanocomposites.
4. They can be used for decomposing organic
pollutants in the paint and pharmaceutical
sector.

Which of the statements given above is/are
correct?

(b) 1and?2 only

(d) 1,2,3and 4

(a) 1only
(¢) 1,2and3 only

Consider the following statements regarding
Electroencephalogram (EEG):
1. EEG was developed by German physiologist
Hans Berger.
2. EEG records the activity of neurons in the
human brain, which exchange ions, with the
help of electrodes placed on the scalp.

Which of the statements given above is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

The incorrect statement regarding the Rhisotope

Project is-

(a) Itisrelatedtotheconservationofrhinoceroses
being killed illegally in Africa.

(b) This project has been funded by the

Government of India.

(c) In this project, two small radioactive chips
are inserted in the horns of rhinoceroses,
which make their horns poisonous and
useless.

(d) Despite these efforts, illegal poaching of

rhinoceroses has increased.
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62.

63.

64.

65.

66.

TATHT T gofaal & Gy § foar wifed:

TR vt

el wAfam

TR AT

Hifaae FeIfm

TETA s

REURSIED

& T wAfb yeiad § 9§ S-S 9Rd § o

St /22

(a) wad | (b) e 1 3R 6

(c) ®aed 1,3 3R 5 (d) SWe |ft

FAMRET HRYR el &1 yq@ fowma & Hay o

frafafed werl W foer #ifs3:

1. 3 =ifes wed g wenfedl o st s |

2. I A Sifad WA T FEEART H SEdw
A % o 3 wide | e s wei
HL B

ITH woAl § W wA-T/A W@ 22

(a) HaA 1 (b) HaA 2

(c) 1 3R 2 T (@ 7@, 982

T gelt & daw ° frafafad soai w fomm

EAISDR

1. 1 & H dif4en geft 1 [UCN &t & fae
Y foreqe siftrg e feon = ©

2. I Qﬁ'l'@l'l'sC BIeft (elephas maximus) Eal
TF Y TSI B

3. 3 o TR wE 9 R ¥ e B

Sufe # 9 o e wet €7

(a) HIA TH (b) waA

(c) |t @ (d) ®E off T

Tee 9e fue, 2024 ffafaa & 9 fas g

S T ©?

(a) =&

(b) & ®F

(c) HUSIEAT

(d) o TAFElerel o

IRd & foRell 51 9er & day H fr=fated

oAl W fo=m Fifsa:

1. ferelt g1 e =1 fafwee arde e s
LT B

2. oAfyeprer foseft 4w werR fomm eI
MR (SDR) &% &9 | 2|

3. 1991 & ofYieh Hehe & Uvdq foell Hw
YER & Hay H ‘W UReE’ qen ‘aEd.
T2 wfafa &1 Teq fwar @ em

ARG A .

62.

63.

64.

65.

66.

Consider the following species of Flamingos:
1. Greater Flamingo

Chilean Flamingo
Lesser Flamingo
Caribbean Flamingo

Andean Flamingo

A

Puna Flamingo

Which of the given Flamingo species is/are found
in India?

(b) 1 and 6 only

(d) All of the above

(a) 1 only
(c) 1,3 and 5 only
Consider the following statements regarding the
key characteristics of the Florida carpenter ant:

1. These ants form colonies in rotting wood.

2. They perform life-saving surgery in their

nests to improve their chances of survival.

Which of the statements given above is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(¢) Both 1 and 2

Consider the following statements regarding the
Borneo elephant:
1. The Borneo elephant has recently been
declared extinct in the [UCN Red List.
2. It is a subspecies of the Asian elephant
(elephas maximus).
3. They are larger in size than other Asian
elephants.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

World Wealth Report, 2024 has been released by
which of the following?

(a) Hurun

(b) Knight Frank

(c) Capgemini

(d) World Inequality Lab

Consider the following statements regarding
India’s foreign exchange reserves:
1. Foreign exchange reserves are regulated by
the Reserve Bank of India.
2. Most of the foreign exchange reserves are in
the form of Special Drawing Rights (SDR).
3. After the economic crisis of 1991, ‘C
Rangarajan’ and ‘Y.V. Reddy’ committee
was formed regarding foreign exchange
reserves.
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I wul B 9 FH-T el 7 Which of the statements given above are correct?
(a) o | R 2 (b) o 1 T 3 (a) 1and?2only (b) 1and 3 only
(©) Hae 2 3N 3 ) 1,2 3R 3 (¢) 2and 3 only (d) 1,2and 3
67. BT B H ==l § @ Tl 9 Gafuq frefafag | 67- Consider the following pairs related to places that
T W R FfR: were in news recently:
— [— S.No. Place Description
o X = 1. | Stromboli Figurative limestone
I % b TR (Italy) cave
(zeeth) T - . 2. | Bolivia Forex shortage crisis
2. | drcftfa=n facelt gs1 &t Ghe W& and dependence on
e W fauwan the dollar
3. | gaeEt SaTeE faehte 3. | Sulawesi Volcanic eruption
(SRR (Indonesia)
4. | Peru Skeletal remains
4 | & 4000 o FrT in 4000-year-old
IR HIST H Hehred ceremonial temple
- kil - How many of the above pairs are correctly
3 i 1" 9 ﬂ"’q'ﬂ%"} e € matched?
(a) HIA TH (b) Faa I (a) Only one (b) Only two
(c) Had o (d) It =R (c) Only three (d) All four
68. 5 S[E, 2024 | Yoo IR gH & = o+ S9HR | 68. Consider the following statements regarding the
(Aphelion) =1 Teerfq & weer o Frrefafaa swemi position of Aphelion between the Earth and the
[T e Sun on July 5, 2024:
3 ) ; . . 1. Aphelion refers to the point in the Earth’s
I ::Fl et 1 Fa W g A orbit where it is at its longest distance from
2, &l gd @ su=t o geifuw e R the Sun.
2. F& HSA AR e hi Yo H Hfed il 2l 2. This phenomenon occurs in the beginning of
3. STYER 1 Y9G IR § qq9H B 3° W 4° July.
ek GIferd el B 3. The effect of aphelion affects the temperature
IRF FoAl § ¥ PRE-T/AEA-T "W 822 in India by 3° to 4°.
(a) 39 1 (b) Fa 1 3R 2 Which of the statements given above is/are correct?
) Faa 1 k3 (d) Fa= 2 3R 3 (@) Tonly (b) l'and 2 only
¥ . & ey 5 & (¢) 1and 3 only (d) 2 and 3 only
69. 32 Ed HISE Hay § i
= 69. Consider the following information regardin
g g g
T go W fomr wifsE:
N . Mount Etna located in Italy:
I W& e % far A seell A e S 1. Tt is the highest peak in Italy, south of the
=T B Alps.
2. 98 fava W o wa® diww €A el 2. TItis one of the most active stratovolcanoes in
SeTegiEE ¥ 9 T 2 the world.
3. WA diehdl 3, R SATATE g & 3. Stratovolcanoes are tall, conical volcanoes
FE A, T s T + w 9 buiLt 1oof layers of hardened lava, ash, and
. ts.
3 fffe e & rock fragments
. . Which of the statements given above is/are
_ ?
SudE el W W SE-H/A WE 2R correct?
(2) ®aa 1 (a) 1only
(b) Faa 1 3R 2 (b) 1and?2 only
(©) ®aa 1 &R 3 (¢) 1and3 only
(d 1,2 33 (d) 1,2and3
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70.

71.

72.

T -2fafm g & Wey ¥ fr=fafed § 9

T He B-

(a) A & ¥ T ¥ Jeq W1 H HEee 3R
fehel g TS Aeeed/9eR 91T Y 7|

(b) IE TH IS §9 T

(c) @& g <feror wifen & Ty & o 2

(d) To9 Ugc ST §IY W ARA H A U
EAls

frfafad el ® fa=r Sifsa:

HUA-I: FAel AT YAeies & o= efa™
STeTeHEHE § Toh Y& HETE ki Wi i T 2

HIA-TI: 98 T il Higehl shiftede 2, TS
fmfor g9 &5 & SaRife famm & o gan 2

HI-111: SO STeTERT 1 3eaifesh TEERR

H I ST B TG H A Al 2

Sude weHl % "o W frefafed § 9 siA-a

T 22

(a) HUA-I 3R FOA-1I1 I T & 9o I,

HUA-] HI A HW B

HUA-11 3R FoF-111 3 Tt &, fFg =

Y el Th, HYA-1 I A HE 2

(c) HUA-II 3R HeA-1I1 ¥ ¥ o T T &
3R T€ HUA-1 1 A FL 2

(d) 7 @ weHA-1I, 7 & HUE-111 Tl

frefafea weml W fomar wifs

HIYA-I: TFH T W FHed HT UfhaAT HI e
FT I F

HIA-1I: TFE THEl A Hewie § a1 et
G €, S Ogg a2 @ [ feord e €
ST HoFl % oo |, frefated § ¥ wE-m
T 27

(a) HEF-1 3R HeF-11 I TEl € a1 HeF-11,
FHUF-1 1 A Hl 2

HUA-] AR wUA-11 <+ wEl ¥, fRq
HUA-11, HUA-1 HI @ &l Ll 2l
(c) HUA-1 WE B, fohg hea-11 W& &l 2
(d) weA-1 W&t 7L B, fohg wem-11 @l 21

(b)

(b)

70.

71.

72.

Which of the following statement is incorrect

regarding Minami-Torishima Island-

(a) Recently,
containing large quantities of cobalt and

manganese  nodules/deposits
nickel have been discovered here.

(b) This is a coral island.

(c) This island is in the sovereign territory of
South Korea.

(d) The phenomenon of sunrise is first observed

on this island.

Consider the following statements:

Statement-I: A microcontinent has been

discovered in the Davis Strait between Canada and

Greenland.

Statement-I1: It is a proto microcontinent, formed

due to the tectonic evolution of the region.

Statement-III: Davis Strait is known as the

northern arm of the Atlantic Ocean.

Which one of the following is correct in respect of

the above statements?

(a) Both Statement-II and

correct and both of them explain Statement-I

Both Statement-II and Statement-III are

correct, but only one of them explains

Statement-I

(c) Only one of the Statements II and III is
correct and that explains Statement-I

Statement-III are

(b)

Neither Statement-II nor Statement-III is

(d)

correct

Consider the following statements:

Statement-I: Groynes slow the process of erosion
at the shore.

Statement-II: Groynes are low-lying wood or
concrete structures which are situated out to sea
from the shore.

With respect to the above statements, which one

of the following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

(b) Both Statement-I and Statement-II are

correct and Statement-II is not the correct

explanation for Statement-I

(c) Statement-I is correct but Statement-II is
incorrect

(d) Statement-I is incorrect but Statement-II is

correct
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73.

74.

75.

76.

T & H BERM 31t eRfeF Ug MR IcATTehel

o $w gfean (FOGSI) A Afganedi & ford

Teh AT SRl hEH T& fman 81 9rd o

TR W Gafd fFa 9M o gl & gey

¥ frAfafead Fu | faar Fif:

1. Ifeda SRS WM (UIP) & Sfaid
10 - fem i & freE & ol e
gferen suesy B

2. gFEEd SRARSYA WA (UIP) & d&d
IR ¥ B Todl & fod ad 2014 H
o9 5o 1 YEsTa i TE ot

3. foeufew, fewfifen ok wife= PRy
GHH Serdi-frard T ® 3

STE woAl § 9 wA-G/A WE 2R

(a) ®ad 1

(b) wHee 1 3R 2

(c) eel 1 3R 3

(d) whaa 2 3R 3

Ayt T’ % wed A frfafed o 9 W& wue

3

(a) T8 U § U WM drell fava w1 qeg o€t

Huep ed S 2

IE U® § UT S AT Sl i Th (e 7,

S eitmefia o1 T M g

(c) I8 WErEaR ¥ U §M aTel X &l T&h

T 2

IE ®G H 9T I el YA Ae/Aer sen

F TH T B

aRa | wfeenet & TsHifae gfafafuc & gy

¥ frefafaa & gE W AR FHi:

. YRd & 995 H Higenedl &1 Wi
afvaess 3Ed 25% © HTHT FH 2

2. TOg & oot 9sq o wfecnet & wfaffue
% AHS H 9RA 185 <3M A ¥ 1439 T
W 2l

IwfE FUA W 9 RE-H/A WE 22

(a) ®aa 1

(b) Had 2

(¢) 1 3R 2 T

(d I 1,782

fr=fafaa wol w® faar Fifsa:

(b)

(d)

HUA-1: Wl 3o 1491 qen 159 st &
<R ST 9RA § eI gal

HAA-II: 9o 3R & ihfyd dd shiga,
SH- T 3R REEE J T A o i
Ta T

73.

74.

75.

76.

Recently the Federation of Obstetric and
Gynecological Societies of India (FOGSI) has
launched a comprehensive vaccination program
for women. Consider the following statements
regarding vaccination efforts in India:

1. Free treatment for ten vaccine-preventable
diseases is available under the Universal
Immunisation Programme (UIP).

2. Mission Indradhanush was launched in 2014
to cover children who missed vaccination
under  the
Programme (UIP).

Universal  Immunisation

3. Chickenpox,
infections

diphtheria and poliovirus

are examples of vaccine-

preventable diseases.

Which of the statements given above is/are correct?
(a) 1 only

(b) 1and 2 only

(¢) 1and3 only

(d) 2 and 3 only

Which of the following statement is correct with

reference to ‘Mashco Piro’-

(a) It is the world’s largest uncontacted tribe
found in Peru.

(b) Itis avariety of banana found in Peru, which

has medicinal properties.

(c) Itis abreed of lemur found in Madagascar.
(d)
Consider the following information regarding
political representation of women in India:

It is a breed of polar bear found in Russia.

1. The representation of women in India’s
parliament is much lower than the global
average of 25%.

2. India ranks 143rd out of 185 countries in
terms of representation of women in the
lower house of parliament.

Which of the statements given above is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements:

Statement-I: The Bhakti movement spread in
North India during the 14th and 15th centuries.

Statement-II: Popular saint poets of the Bhakti
movement, such as Ramanand and Kabirdas, sang
devotional songs in the local language.
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IwH HeAl & Hay o, Fefatad § 9 wE-w

TE 72

(a) HUA-1 3R HeA-11 <A F&l & qen HeA-11,
FHUA-1 1 A H 2

(b) ®TA-1 3R HeA-1I I @& €, fohg
FHeF-11, HeF-1 i @ T&l HL B

(c) HUA-1 W B, fohg hea-11 W& &1 2

(d) HeE-1 T T 2, fohg HeE-11 9 B

With respect to the above statements, which one

of the following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation for Statement-I

(c) Statement-I is correct but Statement-II is
incorrect

(d) Statement-I is incorrect but Statement-II is
correct

77. Consider the following information:

77. Frefafed € © e w faar wifmE:
(fad) | (Sierwt) | (Hefaa
q )

. | 9Ra &t | fo<ig SRaE | 9Ra &t
TR | FEad “frafua
ik (FATF) It goit
e o @ T
(MER) 2

2. | WA e feoeht W @
Y W Ay EECC R
T 3R aferen 2B
g T

3. | T ied | HgE U | orEH © R
TREES | gEfer T4 2100 qF
e A1 | wrfwy Ay sird
SEE (UNEP) A 2.1
Ted T8 -3.9.°C %
e e, g SEm|
2024

4. | SDG zfean | Hfifq s | 9Ra &1
EEa| 70 SDG
2023-24 R Ty

2023-24 H
qEHL 71 B
™ R
SUge e § o ferat uferEl @@ gafed 22
(a) HIA TH (b) HaaA I
(c) Haa o (d) |t =R

78. Frefafad & . = W faar wifE:
1. B & H TWHfd WAE™ 7 WS PARI
(Public Art of India) 3TTq 9RA ! eI
el H1 YEAE B 2
2. WRA H el 42 TIEh! foavd oRER w0 €,
579 & & o oo Afw 1 wnfaer fewen

T R
641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeof-110000 | T faeeht | fafae e, wawms
(Magazine Test)

S. | (Report) (Issuer) (Related
No. Facts)

1. | Mutual Financial India has
Evaluation | Action Task | been placed
Report Force (FATF) | in the
(MER) of ‘regular
India follow-up’

category.

2. | Air The Lancet Air pollution
Pollution is highest in
and Delhi.
Mortality
Rates in
Indian
Cities

3. | AGlobal | United It is
Foresight | Nations estimated
Report on | Environment | that global
Planetary | Programme | average
Health (UNEP) temperature
and Well will rise by
Being, 2.1-3.9°C
2024 by the year

2100.

4. | SDG India | NITI Aayog | India’s
Index overall SDG
2023-24 score has

increased to
71 in the year
2023-24.

How many rows of the above information are
correctly matched?
(a) Only one

(c) Only three

(b) Only two
(d) All four

78. Consider the following information:
1. Recently the Ministry of Culture has started
Project PARI (Public Art of India).
2. There are a total of 42 UNESCO World
Heritage Sites in India, in which the Ramappa
Temple has been included recently.

T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
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79.

80.

81.

ST el W W SE-H/A TAd 827

(a) a1 (b) T 2
(c) 1 3R 2 T ( a1, T2
fr=fafaa wol w® faar Fifs:

HIA-1: TLF FL&T IRug (NSC) 3 i Hhad
sTiafter gea 9 I8 gl W faverson wa fawmiet
YEH H B

HIA-II: T G qReg (NSC) 1 Ted a8
1998 H qehTele GEMEN 31ea fogrt arstueh &t
WHR & R fwan T e

STfE weAl & Hew o, fefateg § 9 sE-w
wd 27

(a) HUA-1 3R FeA-11 AT L1 & o Her-11,
-1 1 A HT B

FUA-1 R HUE-11 <A wmE ®, g
FHUA-11, HA-1 1 A T L
(c) HUA-1 W B, fohg hem-11 W& &1 2
(d) HeE-1 & & 7, fohg wem-11 9 2
T T & Heay § fefafed ol | faEr
Hifer:

HIA-I: T ¢ W TOR & Ufpes foman S
2, foree faomn wfera &1 S 21

HIA-II: TH 72 e H TH U1 g3l oM
2, 5t fafaa o s &1 wE9 ¥ W e 2
Iwd weAl & "oy o, fFefateg § 9 wE-w
g 22

(a) -1 3R HeF-11 I TEl € a1 HeF-11,
FUA-1 ] AT F B

FUA-1 SR HwUA-1 A W& T, g
FA-11, HUF-1 1 A T8 HLl 2
(c) ®UA-1 W B, fohg hom-11 W& &l 2
(d) ®oA-1 TE T 2, fhg FeA-11 Tt R
frfafeg w foer w3

1. TR Tie TeySed TREd e ey’
2. TR o I SRR’

STF | ¥ RE-G/A ‘@ SEAE TS o
e (DRDO)’ ¥ Heiferd 2/87?

(b)

(b)

79.

80.

81.

Which of the statements given above is/are
incorrect?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Consider the following statements:

Statement-I: The National Security Council
(NSC) provides analysis and recommendations on
issues related only to the internal security of the
country.

Statement-11: The National Security Council

(NSC) was formed in the year 1998 by the

government of then Prime Minister Atal Bihari

Vajpayee.

With respect to the above statements, which one

of the following is correct?

(a) Both Statement-I and Statement-II are correct

and Statement-II explains Statement-I

Both Statement-I and Statement-II are

correct and Statement-II is not the correct

explanation for Statement-I

(c) Statement-I is correct but Statement-II is
incorrect

(b)

Statement-I is incorrect but Statement-II is
correct

(d)

Consider the following statements regarding
Dark Net:

Statement-I: Communications on the darknet are
encrypted, ensuring privacy.

Statement-II: The dark net is a hidden part of the
Internet that is beyond the reach of regular search
engines.

With respect to the above statements, which one
of the following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation for Statement-I

(b)

(c) Statement-I is correct but Statement-II is
incorrect

Statement-I is incorrect but Statement-II is
correct

(d)

Consider the following:
1. High Speed Expendable Aerial Target
‘Abhyas’
2. Indigenous Light Tank ‘Zorawar’

Which of the above is/are related to ‘Defence

Research and Development Organisation
(DRDO)’?

@) 1 (b) T2 (a) 1only (b) 2 only
(©) 1 82 3 (d Ad 1,782 (c) Both1and?2 (d) Neither 1 nor 2
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82.

83.

84.

85.

%Y THR N FEd anfties sTfefes Teror 2023-24

% Gay ¥ frafafed wuml = foem Fifse:

HIA-I: TAG HY FH AEHE FA HL Toed o

Y FU FT ol § A B

HIF-11: TR 7 G =F ° IR Jhg Hi

AR 80 wUS @l =i 3w @R Suwsy

HT

Iud el & "y o, et § § wE-w

wd 27

(a) HUA-T 3R HEH-11 <A TEl & qe HeA-11,

HUF-1 1 S Hl 2

FUA-1 SR wUA-11 A W& ¥, g

FHUA-11, FA-1 HI A T BT 2

(c) ®UA-1 T B, fohg hor-11 W&t &l 2

(d) HeF-1 & & 2, fohg weE-11 92 B

%3 WHR GRI T ATk A Faaror 2023-24

% Gay § frafafed wuml = foem Fife:

1. 9Ra a9 2023 ® FHA $120 faferm ywor &
a1l I Afveeh R S ge 2

2. fova d% wifsfesa goeis & 9rd &1 &
a9 2023 | 469 T W T T B

ST kUl § W HHE-w/d e 2?2

(a) ®ad 1 (b) HaA 2

(c) 1 3R 2 g (@ Fd1, T2

FE T2 2024-25 1 i Y T et

o frefafea & 9 1 wfhe 78 82

(a) FfY o IEHa @ A=A

(b) THEEN wHe wEe fommE SR wEiee
o]

(c) TR SFTHUM 3R fohm

(d) wfgen foehe wa aftse arier a9

HLA T 2024-25 F IR THE Tl & ford

frd T = % Gew fEfateg § 9 sE-

TeIEl Y W 872

(a) THIOT fTehT® - T&T - SN Td Hag s

- e

Te - WH foeE - @& - FHY T geas

FHRHAT

(c) & - Tl fash™ - HfY Ud Hag Hrishad

(b)

(b)

(d)

82.

3.

84.

85.

Consider the following statements regarding the
Annual Economic Survey 2023-24 presented by
the Central Government:

Statement-I: Direct taxes contribute more to total
tax revenue than indirect taxes.

Statement-II: The government progressively
increased capital expenditure and provided free
food grains to 80 crore people.

With respect to the above statements, which one
of the following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

Both Statement-I and Statement-II are
correct and Statement-II is not the correct
explanation for Statement-I

(b)

(c) Statement-I is correct but Statement-II is
incorrect

Statement-I is incorrect but Statement-II is
correct

(d)

Consider the following statements regarding the
Annual Economic Survey 2023-24 presented by
the Central Government:

1. India remains the top global recipient of
remittances with a total of $120 billion in
2023.

2. India’s rank in the World Bank Logistics
Index has moved up to 46th in 2023.

Which of the statements given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Which of the following is not included in the
priorities set in the Union Budget 2024-25?

(a) Productivity and resilience in agriculture

(b) Inclusive human resource development and
social justice

(c) Innovative research and development
(d)

Developing Women and honoring senior
citizens

Which of the following is correct in descending

order regarding expenditure incurred on major

items as per Union Budget 2024-25?

(a) Rural Development - Defence - Agriculture
and allied activities - Home

(b) Home - Rural Development - Defence -

Agriculture and allied activities

(c) Defence - Rural Development - Agriculture
and allied activities - Home

(d) Agriculture and allied activities - Defense -

Rural Development - Home
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86.

87.

88.

(Magazine Test)

AT T 2024-25 T STHR T3 HL LA H
Hafya frafafed & & geT W four wif:

®H, | arftes 3 () | T ht Afdava =X

1. | 0-3 @@ =

2. |3-7 @@ 5 gfaemd

3. | 7-10 @@ 15 gfaerd

4. |15 9@ ¥ afasw | 20 wiawE

S # ¥ R g wE gafem 22

(a) sheed TH (b) et

(c) Had o (d) |+t =R

aRd § @™ soRl & fafeme & gdy o

frefafaa wol | faar wifa:

. IRAE WE Rl SR A Wi
(FSSAI), @@ e iR Ares  stfufem,
2006 & t&d fftd T dunfres fema €, S
91 1 =4 @ fafEmes 2

2. FY R WE YEERd W@ S9rE fEd
fohTe Wifeshtol (APEDA) T TR-9enfes
e 21

3. HHE 3R fard foswm wfeor (MPEDA)
T TN 1972 | O & Th utom &
W HT TS o

STE wmeAl § W HE-w/A W 222

(a) HaA 1

(b) a1 3R 2

(c) ®aa 1 3R 3

d 1,2 33

frafafed wol W foer #ifsa:

FHIA-1: TRAT TG H1 TS Teh FHSETRET

ORI T i i Ufehed T St 2

HIA-11: 449 Gfaem Gened & gr dfaem &t

ErsicE RIS EIE G C I e B

Sud werl & Hay o, Frefafeg § 9 wE-

w22

(a) HEF-13 FHeA-11 S Tl € qe weF-11,
FHUA-1 HI A F 2

(b) HeF-1 3R HUA-11<H Tel 2, g wem-11,
FHUF-1 &1 A el w2

(c) ®eF-1 WEl B, fohg wem-11 Wl e 2

(d) -1 WE & B, fohg wem-11 W&l 2

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
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86. Consider the following information related to the
new tax regime as per Union Budget 2024-25:

S.No. | Annual Income | Percentage Rate
® of Tax
1 0-3 Lakh Zero
2. | 3-7 Lakh 5 percent
3. | 7-10 Lakh 15 percent
4 More than 15 lakhs | 20 percent

How many of the above pairs are correctly

matched?
(a) Only one (b) Only two
(c) Oanly three (d) All four

87. Consider the following statements regarding
regulation of food products in India:

1. The Food Safety and Standards Authority of
India (FSSAI), a statutory body created under
the Food Safety and Standards Act, 2006, is
the apex food regulator of the country.

2. The Agricultural and Processed Food
Products Export Development Authority
(APEDA) is a non-statutory body.

3. The Marine Products Export Development
Authority (MPEDA) was established in
1972 by an Act of Parliament.

Which of'the statements given above is/are correct?

(a) 1 only

(b) 1and2 only

(c¢) 1and3 only

(d) 1,2and3

88. Consider the following statements:

Statement-I: The Preamble of the Indian

Constitution envisages the establishment of a

socialist republic.

Statement-II: The word ‘Socialist’ was added to

the Preamble of the Constitution by the 44th

Constitutional Amendment.

With respect to the above statements, which one

of the following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-1.

(b) Both Statement-I and Statement-II are
correct, but Statement-1I does not explain
Statement-I

(c) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II is

correct
T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
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89.

90.

91.

92.

AR Wad g ysa fran &1 SR & gay

¥ ffafed & . g | fomr #ifa:

1. 78 AfUER, TWdda & fER (]
19-22) & 3farla f4fead 21

2. B ¥ Ak oY # eg F A= b el
i forem #1 AW UM HI 869 HiaHM
HeieH sAfufm, 2002 g/ g T

STE wmeAl W W -G/ TAd 2/2?

(a) ®ad 1 (b) ®ad 2

(c) 1 3R 2 i (@ Fd 1,72

foreferfiaa < T go W AR S

fafaa wfaum

el WA e

Tehel ANTREhdT

srafere wifgaal 1 &% & I g

SATATAehTEN JTerE

et g, T5F gl v geerdt gt

ST o H hH 9RAE WIHUE § TheE Jel!

% T §?

(a) Wael 1,2 3R 3

(b) e 3, 4 35

(c) aet 4,5 3R 6

(d) Hee 1,3, 4 36

foreferfiaa < T ge W AR

| (AS) T
I e EBIEcECap]
HIET T-wifafies e
EE A EEIECRECID
4. | T fomm o€ | IR-wifafis feam

ITgF § @ fRa g Wt gafea §2

(a) e Th

(b) Fad

(c) Had o=

(d) g =R
frafafad wul | four i

HIA-1: TRA Gae™ § SMURd 2= & fagia
w1 Sea@ TEl faRar w2

HA-11: STURYA &9 %1 fagia =g gever
F T &Y ¢, THF ST erererd g TR
off A 1 GAUTH AU@T h1 G0 B
fe fepan s 21

A N .

X

bl RS R

&9.

90.

91.

92.

Consider the following information regarding
the Right to Education provided by the Indian
Constitution:

1. This right is mentioned under the Right to
Freedom (Articles 19-22).

2. Providing opportunity for education to
children between the ages of six and fourteen
years was added by the 86th Constitutional
Amendment Act, 2002.

Which of the statements given above is/are
incorrect?
(a) Only 1
(c) Both 1 and?2

(b) Only 2
(d) Neither 1 nor 2
Consider the following information:
1. Written Constitution
Dual Government
Single Citizenship
Residual Powers with the Centre

Emergency Provisions

AN

Union List, State List and Concurrent List

Which of the above is/are the features of the unitary
system in the Indian Constitution?

(a) 1,2and 3 only

(b) 3,4 and 5 only

(¢) 4,5 and 6 only

(d) 1,3,4 and 6 only
Consider the following information:
S.
No. Name (Board) Body
. | Tea Board Statutory body
2. | Coffee Board Non-statutory
body
3. | Spice Board Statutory body

Coconut
Development Board

Non-statutory
body

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:
Statement-I: The doctrine of basic structure is not
mentioned in the Indian Constitution.

Statement-II: The doctrine of basic structure is a
form of judicial review used by the courts to test
the constitutional validity of any law.
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93.

94.

9s.

96.

I kol % Heu §, fefafad § @ wF-a

e 87

(a) HUA-1 3R HEH-11 <A1 TEl & qe HUA-11,

FHUA-1 1 A H 2

weF-1 R weR-1 <A W ¥, fahg

FoA-11, HUF-1 FH =S T&l w2

(c) ®A-1 T B, forg hom-11 Tt & 21

(d) FeHA-1 T 7 7, fohg Fwem-11 Tl 21

1039 wfagum Tynew sifufem & day o

foreferfiaa < T ge W AR S

1. 39 sffufem o sieusers Qe g
1 Brgeht sl TR-Femar o a0 e
off gnfer 21

2. 39 Afufem & FER e fusemH
TRERe 3™ & UR W a9 fHan smom

STfE FUA W 9 RE-H/A HUF T 2/8?

(a) ®aA 1 (b) waA 2

(c) 1 3R 2 i (@ Fd 1, T2

TRTT TG HT U8 W™ & FAfafad § °

g argess o aftfa @2

(a) STT=R 73 (b) 3TT=T 82

(c) STT=T 93 (d) 3TT=3% 105

A E W TEl W ARAd hi Yishdn ud H

garer & oM 373, 374, 374(A) T=fafea o

Y frad gafg €2

(a) WHE & el &9 2023 F R 146

g 95 & Fetaq =i

Tged el H AHEN WES H AN W

T & R R S HI

(c) TN H WHR & faers sifavear ywaa
TR H I

(d) ST ¥ 9 HE T

B & H 95T ¥ 98 gU STaRey SAEE & way

¥ frafafed weml W foem Fifse:

1. e iR smafeRt faRw faum & g ol
Aefd wWeld w1 $gevd wifayl sfafer
ST AT AN B RS TUd HEAl B

2. I R TF A g R REd SeH
TEet 1 e R 7, rad e of-Teifas
fedi o 9 39 1 wried i 2

(b)

(b)

93.

94.

95.

96.

Which one of the following is correct in respect of
the above statements?

(a) Both Statement-I and Statement-II are correct
and Statement-II explains Statement-I

Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(c) Statement-I is correct, but Statement-II is
incorrect

Statement-I is incorrect, but Statement-II is
correct

(b)

(d)

Consider the following information regarding the
103rd Constitutional Amendment Act:

1. The Act also covers private unaided
educational institutions other than minority
educational institutions.

2. According to this Act,
backwardness will be decided on the basis of
family income.

economic

Which of the above statements is/are incorrect?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

The post of Lok Sabha Speaker is mentioned in
which of the following articles of the Constitution?
(a) Article 73 (b) Article 82

(c) Article 93 (d) Article 105

Recently discussed Rules of Procedure and

Conduct of Business in Lok Sabha 373, 374,

374(A) are related to which of the following?

(a) Suspension of 146 Members of Parliament
during the Winter Session 2023 of Parliament.

(b) Termination of Rahul Gandhi’s membership

as Lok Sabha MP.

(¢) Moving a no-confidence motion against the
government in the Lok Sabha.

None of the above.

(d)
Consider the following statements regarding the
recent lunar space missions:

1. The Artemis Agreement, led by NASA and
the US State Department, aims to set the
standard for peaceful space exploration and
cooperation.

2. China and Russia have the
International Lunar Research  Station
initiative, which involves the participation of
countries associated with their geopolitical
interests.

formed

ST Fel H 9 - T 27 Which of the statements given above is/are correct?
(a) ®ad 1 (b) HaA 2 (a) 1 Only (b) 2 Only
(c) 1 3R 2 T (@@ 1,782 (c) Both1and?2 (d) Neither 1 nor 2
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97.

98.

99.

100.

(Magazine Test)

G-7 W€ & Ga¥ § e HUd -

(a) T & H geeht & orgfern H G-7 M=
forer wem sTifsa fowen e

(b) G-7 @ ®F H S FHIHA T AR
% IO G L A TS eff)

(c) TEHI IAM 1973 & dfYesh ool Hhe &
ARTR EE

(d) =9 9 &1 TS ¥ 1985 H foRam M em

formtferfiad weori T fEeR Hif:

1. zfaftrefea sifa fopfera we safsin Tarrarsit
(iCET) T8 9Rd Td &9 & o9 Th
WHids 98 2l

2. THH! THieN Sk A T F TEHA HRAT
FARHR A1 3HH THFY FW B

3. 39 TEA b GBI WIHT & H TSR,
Yifih e o 31 qehHish! & e B

Swde H © o e wet €7

(a) HId TH (b) wad ]

(c) Tt o= (d) & T

T WA S (SCO) & oy o frAfafea

&3 T FoAl W faER Hifa:

. FIEEE & & B oerEfea R
e H dAred e Gedn GUSd o
104 WSS = T4 R

2. SCO &t 3afd 2006 H Tfad ‘vr=E wEa’ |
ge ol

SwfE FoAl § 9 SE-9/A WE 22

(a) HaA 1 (b) HaA 2

(¢) 1 3R 2 T (1,782

A & H fI6R, oY T3 W@ 99 T & 5N

FT W @ faviy Suit 5T & TS wl A B e

¥ frafafed weml W foem Fifse:

1. fowm goff T5@ @1 IS wAge™ 1969 H
M e % ded SH-hHR, 3@y iR
AT w1 T T e

2. Ig <ot fafymee snfele wHifaar ot T i
ez S em

SwE weAl § 9 SE-9/A Wl 222

(a) HaA 1

(b) Had 2

(c) 1 ¥R 2 3

(d I 1, TF2

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
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97.

98.

99.

100.

The incorrect statement regarding the G-7 group
is:
(a) The G-7 Outreach Summit was recently held
in Apulia, Italy.

(b) Russia’s membership from the G-7 was
terminated after the takeover of Crimea.

It originated in the wake of the 1973 global

oil crisis.

(©)

(d)

Consider the following statements:

The Group was constituted in the year 1985.

1. The Initiative on Critical and Emerging
Technology (iCET) is a strategic initiative
between India and Russia.

2. Its review meeting is held by the National
Security Advisors of the two countries or its
equivalent.

3. The main focus areas of this initiative include
Al, semiconductor and other technology

arcas.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Consider the following statements regarding the
Shanghai Cooperation Organisation (SCO):

1. Belarus has become the 10th member of the
Shanghai Cooperation Organization at the
summit held in Astana, Kazakhstan.

2. The SCO originated from the ‘Shanghai
Five’ formed in 2006.

Which of'the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

With reference to the recent demand for Special
Category State status being raised by Bihar,
Andhra Pradesh and other States, consider the
following statements:

1. Special category state status was first given
to Jammu and Kashmir, Assam and Nagaland
under the Gadgil formula in 1969.

2. This status was given to states with specific
economic challenges.

Which of the statements given above is/are correct?
(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2
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